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Questions

In the expansion of (a + x)"the general term Ty + 1is

a+xis

The point R dividing internally the line joining the points P(x1, y1) and Q(x, y2) in the ratio
K1: Kohas the coordinates

If n is any positive integer then n! > n2for

If a statement S(n) is true for n = 1 and the truth of S(n) for n = k implies the truth of S(n) for
=k + 1, then S(n) is true for all

The distance of the point (1.1) from the origin is

Question Image

If n is any positive integer then n2>n + 3 for

Question Image

If n is any positive integer then n! > 2M-Tfor

Question Image

If distance between (3,b) and (0,0) is 3 then b =

If distance between (a,2) and (0,0) is 2 then a =

If distance of (a,b) from origin is 5 then

If distance of (a,b) from y-axis is 2 then

If distance of (a,b) from x-axis is 2 then

The distance between the points (2,3) and (3,2) is

If d4is the distance between (0,0) and (1,2) and dais the distance between (0,0) and (-1,-2)
the
Question Image

If d4is the distance between (0,0) and (1,2) and dais the distance between (0,0) and (2,1)
then
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. A trinomial

. A binomial

A monomial

. None of these

. Real numbers n
Integers n

. Positive integers n
None of these
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d<sub>1</sub>&lt; d<sub>2</sub>
d<sub>1</sub>&gt; d<sub>2</sub>
d<sub>1</sub>= d<sub>2</sub>
none of these

d<sub>1</sub>= d<sub>2</sub>
d<sub>1</sub>&lt;d<sub>2</sub>
d<sub>18&gt;</sub>d<sub>2</sub>
. none of these
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Question Image

The distance of the point (-2, -3) from the origin is

Question Image

The distance of the point (2,3) from origin is

The distance of the point (-2 , -3) from y-axis is

The distance of the point (-2 , -3) from x-axis is

The distance of the point (-2 , 3) from y-axis is

Question Image

The distance of the point (2,-3) from y-axis is

The distance of the point (2,3) from y-axis is
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